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E%RERRSH

S UL H 2 8 /N o) i ] A2 A F) R A HL U T 5 A2 U H B O AR A IE K HL U
Rl ) T L PR 3% 45 350 20 JIT 7 A ) R R L O o) 197 ) 87 4 T 5 R A8 A R FL B . RSB AR
7 VAR 3 o TE 52 A2 U H B EL AT I AR R 1 20 T AR SR R S R A I 5K AT
AR T HEATRY . 0 f ) B i BT E AT BE R 22 2 AR A 1E X RS A F B Y A OR B R
5 7% A A2 U L Y S I A HU ML 3l A 7 AL Y 58 O v S AL S AR I B B L S LA L
HA T BT B AN AR AR R A D0 A5 I A D0 A5 5 AT v WLIE SR 5 i T S 40 A COR P B
TR B 5 R 2 AIE 52 58 i B A BRI AR 5 25 o i SCUnoR B L S8 i L 1 48 IE 52 2SI A

A EE T BEYFIR IE 5% S Ui L A FEASHE 2 L IE 3% A AR i R s s B L R ORI L A OT
AR BRI 5 = B — 2 M0 i R AR I ORI B S RO B . AR SE TR A — SE AR
WE SRR B LA M O7 05 S DR 2 A UL L 1 BOR 1 TS

3.1 ESEAS i HLA S A

WESZ WY R e i I 22— o JR 0P 28 Ak 1 U TR 6 AT LA 43l Sk 1VF 22 0E 5RO 1)
B0 DT IE 5% 5 9 1R H 0 E - TR AL 3 R (B R R A

FEL % v e O %R AR Ak Y FRL R L F R SR FR O OE 7% ) wi
. ERaEr e e 3.1 Fis.

T 2% FB 3 P 7 T L B D 1 = 5 et / i U
%J‘i: / )
w(t) = UpsinCot + ¢.) ag Y§:7/} &
P U

i(1) = I,sin(wt + ¢)
AP, w (o) (i () FRom 1E 5% 58 It HL 7E i — I 21 ¢ i H

JECHRIRAE AR BRI (E . 2 sin(wt +¢) =1 B, IE 5% K31 IERIE

WIS R KA U 1 08 1E 5% 38 3 #7628 b o 2

HE B R AR PR R . 2 sin(wt + @) = — 1 I, 1 5% 5 35 3 e /ME e K AH 5 B/
HZ 2ZPR R fH (2U,, . 21,) o DN TE 5Z AT Ui L 1Y FF 0806 S it 1 5% 32 dat H, 722 1 1 P
Mo @uve N IESXAE T R AR R I WI AR o 8 L A 0003 0 A 057 2 4l 348 1E 5% ok By —
AR PR IR S AC I L ) = B X AR E T R X i 1 R IR U B W E T .
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3.1.1 FAHSEm*E
TE 3% 10— AN A AR IRFR S — A T i . 78 Al — A R Bl o 150 e i) B >k 30 L P4
T %% AW T 8 h 27 ().,
TE 3% 45 45 A0 A A 9 4 B BOFR SR L T f R B R R R 4% (Hz) . W9k HR
T 3 0 58 B
f=% (3-1)

A v B 0 % B Tk (kHz) FJE BF (M Hz) 2675
1kHz = 10°Hz, 1MHz = 10°Hz
T A A K B AR SR 50Hz 1 Sy B 7 58 G5 16 A o AT 5 L SR FH 3K AT 11
S L B FR A AR R . T E YR Ry DR 2 BRSE T B AL A R R BT R
TE 5238 it HL AR Ak — S FEL I A Y F I 5% R B2 b 2 IR, 3 R0 A A% Ak 1 5T BE BORR h
MR o Fm . BH5EERKER N

PRI B RN EE /FD (rad/s) o w. /T # 02 RAE E 5% 5 A8 A R 1Y AR /Bl
75 Ak
3.1.2 lRESEME

E 5% 28 Y H o 0 R /N T E R I L IR A B R . TE 9% S AR — B 2 A (AR
BEEHE A e — NS FRERR B e B o FBUE ¢ 5. AR BEIE 2 BH
[ 225 A4 1 2 B R B R R, T 5% 5 728 i A% v 3k 3 1 e KAE AR S {8 F S ARS8 m (1
KEFRREFR MBS E, R Un R T 55

JH 5% o1 0 {1 >F 3R 7% TE 5% B A 0 S R0l P B O S O i, A AR R 0T R O
H, s A — D SR N 7 A 194 - 28 2000 48 5 A S5 25010 L U o DA o R L A A e O e T
PR A8 5 3K — 45 0011 L £ PR Oy R A0 A R AR ) KRS PR R o IR X & W {E W
A RAE R R, 40 B 5 A6 LR 283 220V, 45 19 5t 2 1F 5% 28 1 R A9 A 33U (E .

FE SCAT BB bR 1 2 AE o f It ) PO R ML Y . A AR LB R B S AR AT
— AR R HA ¢ B TR R T N A B I S A B A Tl R —
FH R FEBS ] T P97 A () B AR 55 IR 43X AN S8 8800 B it T 8 U 28 i i it @ A
RAE I A

J‘Orz'szt = I’RT

A RE

X 1E 5% HL i:I,],Sin(wt+§D;> A RE R

T
I— \/%J Lsin® (wt + g)dt = =2 (3-3a)
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[ EE , 1F 5% FE R (9 B RN U= (3-3b)

1E 3% H 3 A RL(E R E= (3-3¢0)

EIESlis

ﬁ(B—S)%@EﬁaE?Zﬁ?ﬁ%E@ﬁ?ﬁﬁﬂﬂﬁ@ﬁE’ﬂ%»le] 220V By R B A R HG R U A

311V, HH, IE 5% 4 i = A1 s B ol RR ok
u = Unsin(wt + ¢.) = V2Usin(wt + ¢.)
i = Iusin(wt + @) = V2 Isin(wt + @)
¢ = Eusin(wt + ¢.) = V2 Esin(wt + ¢.)
EXFRAEREWU T E) o @ Wl IR F R IEZ AR =27, TREPEHRR
U R A BE A B AL A U T A R DR L b S O PR TR R L R O R I L R B R
ERNCERRIEROE Rl €=
3.1.3 #1146
TE 5% 32 U HLAE AN [R) I 220 45 2 ) 1 I B AR Rl B9 X T IE 3% B 7= Tasin(wr + @)
M wt 4@ FR R IE 5%t 59 AR AL B 2 BE I 18] 2 Ak 0 R RE L A I PR AR 2 A B L 2 oI
(rad) . t=0 WAL @ FROFRIAIAL, g FRADAH . TR b B BE AR S T HL i | <<
180°, IESZ A M WIAHAS A HoAD ih (B AN ), 75 3 4 IE sX WO R — K 18] 3.2 ROR TR
()B4 T S L B4 IE 5% FLUR 0= TasinCwt 40 BIBTE .
i i A i
0 0] [@] 7] 0 ol
B NIV /R

(a) =0 (b) ¢>0 (c) ¢i<0

fm

3.2 [EIWIAR N Y IE 5% L O BB

XF T A () 430 38 1) 1E 5% 6 L
u = Upsin(wt + ¢,)
i = I,sin(wt + ¢)
HAAALI R @i AT 22
o= (wt +¢.) — (wt + @) = o, — ¢
A LA [R] A IE 5% S8 (1 AR 037 22 B0 T S TR 5% 5 WD A o AN [ B 220 P, s #9942
IR AR T AR B 25 R . S 0 CHY g0 B BT a FL LS ¢ 5631 i 1F B0, By
JE w TEARAL B WL ¢ BAT @ AL BUPRH U TEAAL B e v BT (TR R @ ff L T
3.3 flin s RZ .M o<OCHD o, << I HLJ ¢ L w JE 338 E IR AE , ZEAHA g
Ui MO w BT @ AL AR 3. 3(b) IR .
AT M2 o—OCHN g, — o) it FRHLIE « 5030 ¢ o FUAR AT 3. 3Cc)
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(c) FlFHg=0 (d) s AHp= +180"
& 3.3 AR A IE 5% 1 () AR 47 2

IRe MAANI2E o= — @i = 180 B AL o HHU ¢ A A0 3. 3(D TR .

TR MEELARATHANALEZZRMG AL,

[6)3-1] ©%0i=10sin(3141+150°) A, u="50sin(3141—60°) V, 3K X P’ 4> 1F 7% & 119
AHAL 2

fR H IR 2 T 1R

¢ = ¢.— ¢ =— 60°— 150" =—210°

MG B 5 L I 210°  (ER A A] DA T —1> Ha Fs Rl BB AT f gt 1507, &l 3. 4 i
TR o MR 25 5 2 P SRR T R A R PR T R e 7 FRATT R A L AL 25 AN R i 42 180°,
JF LA AS 5] 2 B B HL 3 150°, ML 3.4 W rl LIFBF ,u b Se 35K E 085 , 8T,

L u u

i

A

150°

-210°
3.4 i 3-1 W R IE K

[ 3-2] 8 u=12cos(314:—120°)V,i= —2sin(3141+60") A, 3K :

(D) MAME o BRI T KM UL KITHADSL @0 F1 @i

(2) u Fli BYARAE2E

(3) JHAZ I v Hs 3 R0 5 Ui Ha, it 2 0 5 v, Hs R v A0 IS 1S 3R Y 132

(D pHrEZ RN, /NI L N R s XE S IE L AT A E L=
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A BF AR DL sin BRECER R, N LA
u = 12cos(314¢ — 120V = 12sin(314z — 120° +90°)V = 12sin(314¢ — 30"V
i =— 2sin(314¢ + 60°) A = 2sin(314z + 60° — 180°) A = 2sin(314z — 120" A
MR BT A

w=3lrad/s. f= & = 50Hz. T L
T

- = 0.02s
S

Un =12V, I, =2A, ¢,=—30", ¢ =—120°
(2) MIREZEN o=@ —@i=—30"—(—120°) =90, 13t Bt [T H8 Rif HL 9 90°,
(3) FHZE It H R 32 R A8 Ik FEL 30 2 U o Fh S L A ) 38 000 3% 1 132 50359 S A 2 qiE, 1D

U I
U=-""=6/2V, [=""=2A
V2 V2

3.2 IEEAHA A RIE

TEIE 2 A2 A LB B 23 B v - 22 BEE AT O 1 [ A3 3 E 5% AR A9 7T 35, LR
1E 5% B B BE S R IR AT B A = RO T SRR AR BT . T I SRR A A V5 9
il A0 s ) A0 3R TE 5% Ak T AT P80 b 0 72 i SR AEL S R I 5% 5 5 T DL ) R
b sz MR B i RO RUE IE B R L RORFER TR R R . & n] L
He 2 BOE SR T3 45 0 S A8 B 5 RE . 3 M AR 8 07 6 B Ol A R L SO TR BRI S
PR
3.2.1 &

1. SHPRTENX
SR A ARG = A R RIEK  F BURIAR A s 5 U b R 7 5

B A BT E A — A AT LR F B 5 1 A S50 1) "

ok R H A ROB S I 3.5 R, A MG R
A=a+jb H(ﬂ :

KL= IR o REEA Y. I0H a=Re[AT; 4 “#

b REEA WEFS,iC hb=Im[A], | 3.5 B R EER

HRAEE 3.5, ] LR = MR BRI REH A
A =] A (cosg+ jsing)
Ao [A[ 1 i R PR LA W @ S ] i 5 TS e/ PR o AL A AR £ .
AP 3.5 AL

a=]A] cosp
/7:|A|singp
| A= Va*+b*

= arctan {i
¢ a
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R KFL A F e = cosp+jsing, B HEE W LLFR N IEHOL X
A=A (cosg+ising) =| A | e*
H T IMERS TR BOE 28 AT LT AR FRIE KRR A
A=|Aler=1Alle
3X 0 A I 2CnT DL ERR e 48, 3 A2 R oz B o ok AR B bR is B o
K 8 BOP 2k AL AR 2.
EH e = 1/ RESET VTR N o WEEG EEA =] Al R HTFHEK
R LA | B ) 3 T 1) R — A A ol A TR | A | RS BRI e B ERE IR T
1 BRALA KON HER
¢ = c0s90° + jsin90° = j
e " = cos(—90%) +jsin(f 90°) =—
PRI § 0 — 3 B T R, 3 0 Bk Ry 907 Jie B PR 1 — 90° g e XL v~ il s — AN 52
B .55 TS B BE 2 P F i BT e s 90°; — DL — GRS TER UL 1, %
TS G R S T B B RS 90°.

2. BHMIZE
D BE iz &
— MO | R A B A AT 2 B B sz 53
WHER Fi=a +ib Fo=a: Tib R AH
F, £ F, = (a; +jb) *+ Car +jb2) = (a1 £ az) +3(by = by)
RD S 302 SOAH I i) 178 152 0 i 52 010 S5 38 5 S A I (O 5 g ¥ 5 R A AR AN GOl
SR el iz B T DA SR Y A2 P T AT D 0 i HEAT L IRl 3.6 BTOR

P 3.6 SRz S A

2) ZHFPRiE R

52 B T 6k 3 B T SR P A2 R 10 18 B0 X A AR AR TR X L T A

WA EER Fr=a, +iby  Fo=a, +ib, . 1 55T B8 H 40 18 BOE X s A bRl =X
il .

F,=|F, | e
. = l
A, | F | = Val 6% ,¢1:arctan§o

1

P‘2 :| F2 ‘ ej</’2

ﬁqja‘Fz‘:ma@:arctan%o
2
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X PN SR e B 45 R A

FiF, =| F | & | F| e =| F || F, | 9% =|F, || F,| [¢r T ¢
F, ‘F1|€W1 |F1|'<¢—¢) ‘Fl‘ —

- = _ — N7 ¢) — @1 @2

F. | F.|e» | F | |F, \/i

B sz B AR RSO 3 (IR ) A B DU SIS 5 A 3 B » 4 A1 -5 8 A GO

T8 55 L8 K 3 BRI 9 52 B2 B T SR AR R X A A2 JOTe Bk o B s ml AAR ] 8 3t
FHENER X R HER
3.2.2 mEXEX

AE SR A F AT LRI AN [R] A9 28 78 1B 2 Qi T ik S 9 = R B 7 vk MR B 3R 1
Hij 5 RE 7 15 3t SR A5 A R I 220 A B N 5 5 2 5 L. {HL T 2 2 [m] A9 R JE 2 A IE 5
ks B s R 2. AR R R RE M D R RS L L e T IR e R Ok B R
IR

WA — M IEZH I i = Lasin(wt +¢) s WNE 3.7 ftos, 2308 — DL A BB o AR 30 I 5
e i e ik A LB R AR IE SR B A IR A Lo D U600 B (0= 0) SR AR AR 1 e i ROk 17 1E
SEAPIRIAR @ XA BEFE o BRI SC S HOE 2 IE X i = Z R Bl R KR IE 5% i . JiE
e R TR RS L AR v B — BRI EGVRh b A R R B T IR 20 1E 9% R A BRI (. e
t=0 W} ,io=I,sing; 7F t=0, B ,i1=I.sin(wt1 +¢) .

Bl 3.7 JHBERE KRR IE R R

T 2 Pl B A TF R 25 H s o L B e U R 2 TE 3% T 1 L B L 9 2 [
— R IE B AR AR R R LR R S s L R RS E T — AR
A () R RN WD A L RE T LS B R R I IE A BRI Rk R, K2 A E AN E
B T (10 I Bt 2 35 2, b T X R O
3.2.3 tHERTE

TE 3R T LA — A etk (04 1) 28 Be (4% k) Sk 2605 o T A5 1) 2k BB T LA ) A 0k 36 7%
0 KR 3 7% TE 3% 9 DK /IS CHEED) 5 5010 % £ 78705 TE 5 (W0 AL L B 367 TE % i 1 2
BB S AR PR 05 10 1 BB Ok TF 3% 4 10 AR B R R v L O T X AR e 5 R AR
BB HKE F 8 LN — Ak FR, W BT AL %, A E R
i = I,sin(wt + @) AHERRIEN: I, = I,/ = I, (cosg + jsing) .

.

myI:

PR A 0 fk 1 20 (R ik A 2 (R ik 5 0 (A ik £ 56 5 U = i

&

Iolint
Do) |2
|
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M ER = LasinCot + @) B RMEAIRERER: [ = 1/ = I(cosp+ising) .
TIE 5% A2 it B 8 AR BB SRR o J5 2 ANRr R 150 B A R A RC(BAH £

TE 5% 5 ] LUR FAH 1 R 75 06 R Al 3R I8 4 1 5% 8 AR I A 435 2R 2 75t ] DA SR R AR 62 A
TE 48 RO R Ve 7 T T I UE [ AU AE HOh kS R X i Ik Z MR SC R .

A . — 3 i = LsinCot + @) BIREEFRRE D L = Lo/e = Lo, ik
W ST R T—

[ae " = [,e" e = [,
HR A BR A A A
[.e“"? = I,cos(wt + @) + jlasin(wt + ¢) (3-4)
Wi B IE 5% L i i 7 X (3- ) S HHY AR L B
i = Insin(wt +¢) = Im[ [, ] = Im[in]ej”‘]
BRAT WA [6) 330 0 5% W U 53 30l
i1 = Linsin(wt + ¢1) = Im[ ] ne™]

i» = Linsin(wt + ¢2) Im[igmej‘"‘]
|
i =1 +i, = Im[ilmej“”] +Im|:i2mej“‘] = Im[(ilm + igm)ej“‘:l = Im[imej‘”/:l
A
In= T+l = L.e"
PNIEE]
i = Im[ I,e¥e" | = Im[ [,e"""" ] = I,sin(wt + ¢)
P A S AT PR A TE 5% S 0 Ik AT L Gk AH R 08 TR AN A 3R OR 20 2 B0 ik s
T =T T o= Lo AR 7 5 22 B U (L A 0
T B2ORR 25 H B v 8 R = - T () AR ) L 5 R R, i 21 R SR R I E T R
D)= > Lnsin(wt + @)

= Dim[Laen e ] = Im ) [Lee ]

=Im > [V2 L] = Im[/2e* D) I[,] =0 (3-5)
Pt A
D=0
i
SMi=o

X B R LI E AR H T 5. 2 H 0% o A I 52 e 3 A R 3R s I i) LUAR 98 i X
B A1 S L AR T . A3 -5) T Tm R HUR RS AT 5 .
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[ L, SR e L R E A D w (1) = 0 7 1E 8% HL s P (O A R

Mu=o
M H e Y IE 5% F R A R i ATAR B R R R % H R E A A i NS 4%
% B F R R B T R B S R R R 4 AH i AR 4 i E R i
L6 3-31 © M i1 =12sin(314r—45°) A,io = — 2sin (3147 + 457 A, 53X 7 4> HL U
Z M,
R ECE A A A R R A B R A R U e R R
AR HEIE 2 BRI A
iy =— 2sin(3147 + 45°) = 2sin(3147 + 45° — 180°) = 2sin(314¢ — 1357 A
RN AN
12; f[cos(* 45°) +jsin(—45°) ] = 6 —j6 (A)

i, = 1 —135° — Zlcos(— 135°) +jsin(— 1357 =— 1 —j(A)
7z

V2

=1 +1=06-6)+—1—)=5—i7= 52+72/arctan(—%> — 8.6/ —54.5°

RS o 0 R R 5 SR B AR ek IE 5% L e A K
i = 8.64/2sin(314¢ — 54.5°)A = 11. 6sin(3147 — 54. 5 A

H I BT AR S AR S A S e A R L o B B0 s A T LR A I
5% VR AT LA B 8 b S B I % A Y I eas B

FR: MEATARZERZNHATBX, RFR TEZE, L AT F LS FE R
SRR EERIGREZZTN . LMEBE RN AAX . RLEMEAXAKXN B AEA
F5.0

I =8.6/ —54.5° % 11. 6sin(314t — 54. 5°) (A)

3.3 A—Iulhr g i LR

18 3. 2 R B ALA T . C 245 38— H B 450, BN AE LM 3R 28 I sX R A i i
ST 1 FL T P I A R A (] — MR 0 IR B2 i AR R AR Rl B T AR i E BOE
20 I 5 R R A R B — T R B A H B b B R U L TR AR R R (AR T R O R
VCR, Voltage Current Relation) &z H.I &K1,
3.3.1 ZEEMEBEEK

1. THARXER

LK AN 18] 3. 8(a) it/ B HLBHL R P i RN s TS HL TN s 275 5 1) Q0] 3. 8 ()
Js .

e i B A B ik H
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ix = Irmsin(wt + @) = V2 Ixsin(wt + @)
AR 48 D At
ur = Rix = Rlrnsin(wt + @) = Urnsin(wt + @) = V2Ursin(wt + ¢u)
MNHLBH bt 0 L k5 o R wk BRI MER L AL BH L LR AN E
Sy 6] A3 A4 1 T 5% 4, 100 ELAEAR 7 b BAT W] AR AL 195G R CMIA 22 0 %) L 8] 3. 8 (b) I 7R A Hy
JE R L Y TE 5% E

ip | o i
+ g
ug R iR
- 0 T | iZJ'r_ i
I ; ; ; I
I I
I I
(2) FLEEF (b) T - MLAIESZHIE
I I
_ X | |
+] i I I
: I
. U’R i —:— R e e
N i T0y I | "
+1 0 T 2x “
(¢) HUIE ~ MU= E (d) BRI T4 1

Pl 3.8 ERBH TR SC L A i R I L B O D) AR BT 1 AR

P PR L ORI I A 3 3k 5 m] LA 3]
Ugn = RIxn 3 Ux = Rlx (3-6)
BIV7E R BEL G R e e o R )l 281D A5 R O 4 W M (o R fED Z LU B L FHL R
FHAREE 7R 1 2 75 i BHL L A H s | FRL A -

Ue = Ur/ee, Ix=Ii/e (3-7)
S|
Ue _ Uxlen r
I Ixle
H A
Ur = R1Ix (3-8)

PR (3-8 A 8 0 o BEL L 06 1 o AT % 0 2 B R A0 A
ik e 38 T IO 1 4 T 0 T 1 1 3. 8 C0) B
2. BEUE

FEAT — Wk 8], B4~ o0 P b vl T Wi I {8 o 5 P 300 R PR (L 0 1) SRR B R DA I IF g 25, /S
B p £on B R ERBER D)3,



